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SECTION-A

General Studies |
4. Consider the following statem

The highest peak of Madhya Pradesh is

u/w
) Mahadeo hills

a
H 2.

(B) Kaimur range
(C) Vindhyachal range
(D) Bhander range

Maﬁ'lList—ln'ImLis;t_"andse!ect

n‘w-emec:am-erfmmmemdasgwm

below.
List -1
(River)

List—1
(River drainage
area Town/District)

Wainganga 1. Multai
Tapt -/)< 2. Seoni

c. Narmada — 3. Jabalpur

d. Betwa 4. Vidisha

Codes :

a
b.

L = N

-

(C) 2
(D) 1

The most impordant Geographical
factor affecting average temperature in

je e T——
Machya Pradesh

(A) Proximity to the Bay of Bengal

b c
1. 3
B 1 2 3
1 4
2 4

W W M

JBJ/Tropic of Cancer_passes thrgugh

the middle of Madhya Pradesh

(C) About 25 percent part of the land
area of Madhya Pradesh is covered
by forests

(D) Proximity to the Equator of the
Southem part of Madhya Pradesh

SEEME/2021-A

ent with

reference 1o soils. .
i i r
1. Large amount of iron and lime a

found in black soil.

> Red and yellow soil is found In
Baghelkhand. T

3. Alluvial soil is found in Bhind and
Morena District. "

Select the correct statement from the

(B) 1and2
(C) only1
(D) only2

.. Which of the following pair is not correctly

matched ?

District Mining area
(A) Panna Diamond
(B) Balaghat Copper
(C) Katni _Limestone
\}DT SEE“_L Manganese

6. Which Tiger Reserve of Madhya Pradesh

has been declared the Biosphere.
Reserve by UNESCO ?

(A) Kanha Tiger Reserve
(B) Pench Tiger Reserve

Satpuda Tiger Reserve
(D) Panna Tiger Reserve

[P.T.O.
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{ ; —
news for inter-state border dispule are\y'
—

(AY Mizorarn — Mem_:/; sport 7
N (A) Kabaddi

(B) Wreslling

(D]M: Assam y/ Mallakhamba
# (D) Boxing

Q"P

8. Match List — | with List — Il and using _
i i following is an exampl
the given codes, select the correct 1. Whigho! the e

as been awarded the

‘A0, Yogash Malviya h
rd — 2020 for which

Dronacharya Awa

( ipur — Meghalaya
(C) Mizoram — Arunachal Pradesh

o of

answer. input devices ?

List -1 List— I (py Trackball
(B) Spealiq_[_-._
(C) Pn'nter/-/
(D) PIottiE/

(Player) (Sport)
a. Chinki Yaday 1..Horse Riding
b. Akshat Joshi~ 2. Shooting
- A
c. Muskan Kirar .. 3. Hockey

d. Khamman Singh 4. Archery 12. Who is called the 'father of artificial
Codes : intelligence’ ?
a b ¢ d (A) V. Rajaraman
(A)1 2 3 4 (B) Alan Turing
B 2 1 3 4 &y John McCarthy
2 1 4 3 (D) Tim Berners-Lee
()1 2 4 3

13. The smallest unit of memory in a

= . ' M H i HaB
nh which sport is “Rajmata Vijya B> computer is

indhia Competition” associated ?
Cricket (A) Megabyte
: (B} HGCREY (E] Nibble
(C) Football (C) Byte
(D) Chess oY Bi
5 [P.T.O.
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% 14, E-Pathnhala App Ia relnted 1o 1, Whn}mﬂl:‘}mﬂlili’:w_?
, \_U\}'Jllnﬁkﬂ (A) Chandrmgugin first
% (B) Seholarahip () Bhmblsnrn

B

% (C) Medicine (©) indusnr

§ D) Farrors (f Ashokn

4 el

| 15, Which of tho following I an anfl-virus G Amritlnl Vogad Is rolated 10
B software ?_ " (A) (Beulpturo | =
E —— i

; (A) Monkoy /(D}/Pﬂintlnq L
_ _(B) Norton, (C) Binging

(D) Trojan Horso

| @ Wha it the ‘Bhilat Baba’ ? [
: 18. It was the Capital of ‘Rajabhof (A) 'The Chief daity of the ‘Bharia’
(A) Ujjain _(BY Tho_Chisf deity of the 'Bhils’

(B) Dewas (C) Tha Chief deity of the ‘Baiga’
| _ {D) The Chief deity of the ‘Saharia’
'. Jp) Dharanagan
' (D) Bhopal
, 21, Which of the following campaign has
. _ boon initiated under the "Beli Bachao
3 - Who was the last successiul .:m@ glorious Botl Padhao". Scheme run by Madhya
1 F King o | a Pradesh Government ?
(A) Raja Shah (A) Sankh
(8) Vikram Shah BT Lado
5% Shankar Shal 57 (C) Uma
o D) P
(D) Vishnu Shah () Pankh
7 [P.T.O.

SEE/ME/2021-A
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22. Underthe Madhya PradeshMukhyamantri

/ -
@ Sipgorgarh fort is situated in which

'Kisan Kalyan Yojana, how much amount district of Madhya Pradesh ?

is toDe given to beneficiary family in a ,

financial-year? - VM %3_92__ ex)
\_{}a/; 4,000 - (B) Damoch FO‘J 5

(B) ¥5,000 @ (C) Jabalpur |

(C) 26,000 (D) Chhatarpur el

(D) ¥ 7,000

Which of the following is n
Consider the following statements
related to Mission Gramodaya Yojana (A) Palm OS

of Madhya Pradesh Government.
i. Families living e@m be (B) Web OS o
provided with resi al facility. (C) Symbian OS
o _..—-‘—\—‘—'
ii. Basic amenities of rural areas will ﬂ @ﬂ/’
be expanded.

iii. This scheme was inaugurated in the
district headquarter of Bhopal.

Choose the correct option : “\io of WWW ?
(A) iand iii C (A) DSI -
(B) ii and iii ob"y B HTTP Y‘Q
(C) iandii 0301‘ / (©) NNTP

(D) All of the above ﬁ?ﬁ: (D) FTP
5Fk o
Which award has been given to q/{_ﬂ" 28. URL stands for

27. Which of the following is the core protocol

4

rie SDM‘B ? (A) Universal Reference Location
Saraswati Samman — 2020
(B) Kalidas Samman — 2020 Y JBT"UnE?rm Resource Locator
(C) Vyas Samman — 2020 (C) Universal Resource Locator
(D) Tansen Samman - 2020 ;(/_ﬂ (D) U”iVersity Resource Locator
SEE/ME/2021.A ) 9 (PTO.

\Me’?cf



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

% = a fal
| 33, ‘Mati.dance
2g. Which of the following desc e hr&a!Wﬂ

aous I whiely e ¢

E-Commerce.? () Nimar
(A) Business of E_‘ffi_"i’li.‘ig‘—@ds (C) pundolkhand

4§
(B) Business of Electrical Goods (D) Bagholkhan

_{e] Doing Business Electronically 2\ Inwhich District wﬂ"“"'y"""'w e
(D) All of the above @ located 7
(A) Bhopal J
30. Which of the computer language is used (B)
(C) RatSen
in “Artificial Intelligence” ? (D) Sehore
(A) JAVA
(B) Pascal @ ‘Poet Bihari’ was related from

(/) Madhya Pradesh

\/z( PROLOG M

(D) FORTRAN (C) Rajasthan
(D) Uttar Pradesh

‘ 31} Venganga river flows ; -
Which of the following correct order of
(Af Balaghat l Ministers from senior to junior in the

State Council of Ministers 2~

Betul S
5 (A) Minister of State, Cabinet Minister,
(C) Khandwa Deputy Minister, Parliamentary
(D) Dindori Secretary
(B) Cabinet Ministerloﬁwy_hmﬂ

Minister of State, Parhamentaw

32. Chanderi is famous for : Secrelary
\9’753:;’/ {€] Cabinet Minister, Minister of
bl State‘PEﬂTé’rrTntay_Secmtam

(C) Bidi industry abmet Minister, Mummr_oLState

' puty Minister, Parliamentary
(D) Diamond industry v S];T;rg%rrm

SEE/ME/2021-A O 11 M [P.T.O.
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7. Who was the first leader of
of Madhya Pradesh Legislatiye

ition

Assembly ?

(A) Vishnu Vinayak Sarvate
j?/\}ishnu Nath Tamashkar
(C) V. G. Ghate
Vishwanath Yadavrao Tarnash_kar

38, Which of the following body is the
highest decision making body in the

politico-administrative m

according to Indian Constitution ?
(A) Ruling party

gbinet™) <
(C) ative Assembly

(D) Collectively all

1 @ Inwhich Article of the Indian Constitution
. .—,———-——-‘"" .
there is a provision 1o constitute m

abha in Gr.
(A) 243 A
(B) 243 B
(C) 243C
(D) 243D

4. When Madhya Pradesh was declared as

“Open Defection Free" State ?
(A) 16 January 2016

(B) 01 May 2018

(C) 15 August 2016

SEEM82021-A

41. By whom is the work of diamond mining
done in Panna District 7

\)A/ oral Develgpmen

Corporation.,
(B) Bharat Diamond Bourse

(C) Jindal Sales Cprporation

fational Mi

(D) Alrosa J
42. Which of the following option '|
correct 7

\yt)/l' he coal found in Madhya

Pradesh is deposit in
(B) en_g\_Kanhan coalfieldisan ke,

important coal mining-afea in

Madhya Pradesh

©) ¢

(D) Pathakheda coalheld is smtuated in
Betul district and pr _glxggiggal to

Sarni Thermal P ion

43. Which coalfield is not located in Madhya
kit
Pradesh ?

v(;r)/Korba coalfield
i i

(B) Mohpani coalfield

(C) Sohagpur coalﬁeld.
(D) Pathakheda coalfield

13 1 29
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44. Which of the following pair i

JQA) Wainganga

hich of the following tribe is not a
sub-tribe of “Baiga Tribe” ?

no

matched ? - ) tcorrectly

Irrigation Project  Riyey/ Tributa

(A) Ban Sagar Son L4
Project

(B) TawaProject Tawa

"I i

(C) Pench Project
‘/@(Kolar Project

©

45. Balaghat District gets irrigation facility

from the cw?
(B) Narmada

(C) Tapti

(D) Matiyari

e scale of measuring the values of the
i c

omponents of “Physical Quality of Life
Index” lies between

(A) In between 0 to 1
(B) In between 1 to 100

? In between 1 to 50
(D)

In between 0 to 100

3 “EME/2021.p

15

48, As per 2011 Census, what is the
population density of Madhya Pradesh

49,

from the following ?

(A) 225/sq. km.

\)B)/ 236/sq. km.

(C) 246/sq. km.
(D) 382/sq. km.

in which district of Madhya Pradesh

gl =
thickest layer of coal of India is found ?

(A) Chhindwara
\_(;')/éir}grauli

. (C) Shahdol _

(D) Betul

How much amount is being provided by
the Madhya Preig_res_ll_(.?x_m@m_menmder

the "Kisan Kalyan Yojana” annually in

D

addition to the amount announced by

the Central Government under "Kisan
R '.__________—--_"
Samman Nidhi Yojana” ?

(A) Rs. 2,000
(B) Rs. 3,000

TG

[P.T.O.
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' SECTION - B
Mechanical Engineering
54. Incontextto the inventory management,
ABC analysis means
Classifying materials according to

51. Little's lawis the relationship between
(A) Stock level and lead time in an

inve?r.u‘tory- syster; length of the their consumption value
g e e (B) Classifying materials according to

queueina queuing system
(C) Number of machines and job due
dates in a scheduling problem
(D) Uncertainty in the activity time and
project completion time

their quality
(C)- Classifying materials according to
their size and weight
(D) Classifying materials according fo
“ their suppliers

52. Atoy manufacturer uses approximately _
32 000 silicon chips annually. The chips @ The ss of ﬁxmg‘__tlleﬂe;gwg of
are used at a steady rate during the perations gnd material flow Is |

240 days a year that the plant operates. Ster scheduling 7

Annual holding cost is $ 3 per chipand .~ \9{‘ i
ordering costis $ 120. The optima er \,]/‘D ( Scheduling

quantity is cpo* (C) Expediting
' ;f».?’m J:q Routing
)

(A) 2000 chips
56. The main function of the strainer in the

(B) 1200 chips
(C) , 1500 chips / carburetor
1600 chips (A) To maintain pressure of the fuel’

53. A factory has three work centres fora  (*) [0 Maintain temperature of the
: ; fuel T
particular product. The centres.are in a
series as shown. The raw material passes ‘(_9{) To prevent possible blockage of

through the work centres successively to the nozzle by dust particles

duce the product. The time required (D) To prevent access amount of
eachwork centre is shown in bracket. engine oil in the combustion
ys chamber

3] EPC:SEE? @In the exhaust gases of the IC engine,
i ) the source of ﬁ%r is

15'5 Hydrocarbon compounds
(B) CO
(C) NOx
(D) 002
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/o nrhe-isaggs,mamnmnesw"
@ /compoundingthe total isemmpif;gr:@g; Yhe lost motion In cNC machin@ tool Is
; an account of

drop_of steam
(A) Remain constant for all 4-5155;5:5?, (A) Wind up of drive shafts
g) (5Eximum at the last stage Deflection of maghing tool
© LS sdtg"iesd equally among the X members
oy Is maiimum S 0. N{ Backlash in gearing
\/{' s 1 at the rst stage (D) None of the above
g, Maximum air requifed per kg of fuel for (3. Flexible Ma - ms (FMS)
comp!ete_combusuon can be given by P fomation conce ts such as
(considering mass fraction being C, H, incorporat 0
0 and S of respective constituent) (A) CNC m chines, | gfoggr:i%?l‘ﬁy
anWatena andling -
1|8 O e A —
(A) E[EC + B(H - -B—J +S] between machines
< }m/ Computer control over the Cat
118 (0 ¥ materials hand!ing systems, direct
& 23l3°" B(H - '5} *S] % numerical maching lols, Group
- e fechnology g ONC DAch 252
(C) - 8C + B[H — 9—} +S] (C) Equipment —aintenance and
23| 8 ; repair, tool changing and tool
P
(D) None of the above setting
(D) Above (A)and (B)—
—_—

§0. Acombustion has allthe oxygen supplied
i to the reactants being used 235, (g4, “Whichleadback device lranslat

in the §r§§uct.
2% gﬁ;gﬁ’—%ﬁ; as to electrical data ?
(A) Excess air (A) Transducer
(B) Dry air ‘_}Bi/ Encoder
Stoichiometdc-air (C) Digital system monitoring
(D) None of the above (D) None of the above
61. In CNC programming CL_J_H/BLIa/d—ws 65. Theinterpolation ina CNC machine tool
compensation is set with 0 controls —
(A) Go2 0 FYLY
"@ L (B) Spindle speed

BT G
42 Qy[q Qq i (C) Tool change

(C) G28
(D) Go3 \% (D) Coolant flow
8
EEME/2021-A A 17 RO

g‘f
<
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66. The Otto cycle is an air standard cycle
of spark ignilion engine. The sequence
of first tour pracesses of the engine Is
(A) Intake, Expansion, Combustion,

Compression

(B) Intake, Combustion, Compression,
Expansion :

\/(G‘)’ Intake, Compression, Combustion,
Expansiog

(D) Intake, Combustion, Expansion,
Compression

67. The Brayton cyc\efconsists of the
following processes

Two reversible isothermal and two
reversible adiabatic

othermal and two

is heat transferred to the working
L , is heat rejected from the
| Working fluid, then the efficiency of the

v1.

&

69. If'm'is mass of fluid and 'V’ is veloci
of the fluid, then the macrascopic kinetic
energy 'Ek‘ of the fluid element by virtue

of ils molion is

m?V
W - >
B _mv 7
(B) E, = 7
2v72
() E =Y
mV?
\LD)/EJ:: D)

70. The maximum amount of work that can
be extracted from a system iven
state, till the system reaches at thermal
equilibrium with the surrounding is
knownas —

(A) - Entropy

{B) Enthalpy
Exergy

(D) Thermal power

Inthe case of cross flow heat exchanger,
refer the fig. mentioned below.

(A)

P

Area —

)

The curve 'B' repmééﬁts thatem@mh:re
- of fluid w.r.t. area at ] \/

Inlet ofl'l_ﬁjl.q?xﬁ]angar
7
¢, " &

(B) Outlet of heat exchanger
79

- (C) not predicted
(D) None of the above

8qr/
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72. The unit with Stefan-Boltzman constant is

(A) W/m? 3
(B) W/m°k LT
_ef Wim3* W
(D) W/mk e

) All of the above
‘______.__—"_-—'?‘—-

73. It is advisable to put i i :
put on wh:t_e cloth in onsider the following statements
summer, the reason is for white cloth regarding laws of robotics :

JM/& =""D' :—"—-= : an' /I/A robot may not iniure_ a human
being or through iw a

(B) a=constant

human to be harmedu. 7
(€) p=O.x=0vnda=1 Mbot must obey orders given ,\
(D) None of the above by humans excem_w_llgﬂ_:{‘i/‘
77 ' X conflicts with first law:
74. . he property of a surface 3. A robot must protect its own Ik
c £ existence. e

¢ ¥  \Which of the following siatements
s o !

A t 2,
d\ CEET—E-E“"'"— i J
% Source of radigtion 6 (A) 1and 2 only wn o
©) Heat </ @’/"/ \ (B) 2 and 3 only
1
75. The concept of log-mean temperature () 1,2and3
difference is devised to study the - (D) 1and 3 only
fer rate—mh@al exchangers, ’
Egztalijrsaens o . @ Reach and stroke are sp ification of a
robotic manipulator, which of the following

(A) Rate of heat flow varies along the
path of heat exchanger

. A iy
(B) Temperatures of fluids vary from igg’ Stroke = Re \Ze_g_t:")
point 1o point in heatexchanger (B) Stroke gﬁm
<{ef Botn (A) and (B) e b (©) Sudkes Reach il
(D) None of the above Ev @(@uoke > Reacl-!_l

relation is true between them ?

—

__.--'-""'-—_-

76. nthe computer aided design@spe ich em is alsg known as
system ?

of an image i 7L
Ratio of@ertical to horizo W v (A) Numerical Control (NC) 2
(B) Ratio of vertical to diagonal pixel ~. (B) Conventional Machine Tool

\/ ._,qu Ratio of horizontal to vertical pixel _,LQ‘)/Computer Numerical Control
(D) Ratio of horizontal to diagonal (CNC)

)
pixel (D) None of the above a4

N
SEE/ME/2021-A - f\::? S % lgé[%_"
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81. Onaladderresting onasmoothground 84, The ralallonshlpbehwenloadimanany (W), l
and leaning against rough verical wall, shear forco (S) and bending momant (M)

is given by
the force of fricti cls

ds
\(}’)/ Upwards at ils upper end JAJ/W = andg

(B) Toward the wall at the upper end

B) w=IM,ngg. W
- dx

—

(C) Toward the wall at the lower end

dx
(D) Downwards at its upper end (C) s= %V—V andM = gs
X dx

(D) None of these
82. A prismatic bar is supported hetween

two rigid supports as shown in figure. 85. A cantilever is subjected to a uniformly

o distributed load over its entire length.
The support reaction will be The variation of bendin

g stress along
- B, the length_of the cantilaver js
3 F—=10k '@hr\'o (A) Constant B2
3¢ ?ﬁ s B) Linear
2m

—— "__:.‘\

, 172 ( \y

_. R Jp{ @.’[E ﬁ f
Ry = _150_ kN, Rg = _250_ N (D) Not defined

86. The theoretical velocit

> . y of jet for an
(B g R, - %q kN, Ry = 10 <N \ effective head (H) on the turbine is given
3 by T,
g ' G "/Q‘."
(©) R,=10kN, R, =10kN (A) 2JgH & y‘/\)h
) R,=5kN, Ry =5kN \ BT \2gH /
(C) 2gvH Y
© radius of the Mohr's circle : ©) gvh/2
B_T. The place where cavitation is most likety
(A) Minimum shear st regs to occur in hydraulic turbine is
| B) Minimum normal slress ) Inlet of urking S
. i ; (B) Inlet of quide vane
Rarafesy | 0 (©) Inlet of turbine runner -
(D) Maximum normal stregs A’\U) B _g})/ Inlet of draft tube
\ J"%ﬁ 200 g x©
W & * o) ] 'bg
X (PQ— » ’%
Qer ‘b(}-\ﬁ 2 }B
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8./ Which is the wrong statement about
ulic turbine ?

l} The relative velocity over the

moving bl

turbines
(8)

impulse turbine
(C)

reaction turbine

I e S

89.

output as P is

w BN Q@
JNP

(B) o Q /@5
NP a
HEH Nf{y_
NP V

(D) P

90. _
can be used in c_alciLil_@_tlQu.of

(A Pressure in turbines
_(9)/ Power generated by turbines

(C) Temperature variations in turbine
(D) Acceleration of turbine blades

91. Whiteworth Quick returmn mn_echanism isan
inversion _oi 1ollowing basic mechanism

(A) Four bar chain mechanism

(B) Double slider crank chain
mechanism

(@) Slider crank chain mechanism
(D) Al of the above

SEE/ME/2021-A

AR

y
!

ades increases in impulse
—'-_——-—' o ‘
A pelton wheel is a tangential flow

._-'_"‘_‘—‘—-_—-—. Y
A francis turbine is a mix of radial

and axial flow reaction turbing ‘l/"‘
—ee e

(D) A kaplan turbine is a-axial flow

The correct formula of specific speed
of a hydraulic turbine under a head H
rotating with speed N and giving power

Velocity diagrams of hydraulic turbine

92, Component of acceleration parallel to
that lirk is called as
L(A’il Radial component /\\
(B) Coriolis' component
(C) Final component
(D) Tangential component

93. A belt of rewection is
known as
(A) Leather Belt
(B) V-Belt
(C) Crossed Belt

PpriatBett

94. When gear has straight teeth parallel to
the axes and are no suplected to axial
thrust due to tooth load is called as

~—an . -

(A) Herringbone gear
MSEur gear

(C) Helical gear

(D) Bevel gear

~

95. Inamass balancing system, when several
masses rotate in a different planes and
when there does not exist any resultant

centrifugal force or couple is called as
(A) Partial balancing
(B

tatic balancing

Dynarpic balancing
(D) None of these

96. Heat transfer is that science which
predicts the
(A) Rate of mass transfer
B Rate of energy transfer
(C) Rate of momentum transfer
(D) None of the above

21 [P.T.O.
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- (A) Energy
~. (B) Mass transfer

C) Radiation
((D; verall heal iransfer coefficient

98. Thereexistsa “eritical thickness” beyond
which the heat trans er rate

(D) None of the above

99. Which dimensionless number indicates
the relative strength of buoyant to

viscous force ? L -

(A) Stanton Number

(Nusselt Number
Grashoff Number

o

in densi
sed by
ospheric pressure

tween various
. O

der two flat plates cannected
r by means of single riveted lap
o tanq[subjgcted to a tensile force.
The tensile resistance of unrivet lid

late is 35 kN. If the shearm of
he rivet, tensile resistance of the riveted
and crushing resistance of the plate
length are given as 24.5 kN,
and 31.5 kN respectively. The
cy of this joint willbe

-

v?

22

oﬁfv% i
Yo > \D” " X&&

/H? It induces compressive residual

“IV. "It makes the joint leak proof.

Decreases /\
(B) Increases f B
{C) No effect on heat transier
(C) \_—

M and IV are incorrect
Statements |l.and Il are correct but

juid motion in free convection is due Which of the_following statements are

Hand peening is a method in which weld
zone is hammerad along the length with
the peen of a ha , while the joint ig
hot. Which of the following statements
correctly specify the reasons for hand
peening ?

I. Itinduces tensile residual stresses.

stresses.

. It improves the fati
joint.

ife of the

Choose the best option from below :
(A) Statements | and Il are correct but

| and IV are incorrect

(C) Statements 1, Il and |ll are correct
but IV is incorrect

(D) Statements I, II, Il and IV are
correct

correct while designing a component for
fatigue ? S -
. Stress life method s used for designing
for lc!w cycle and high gycle fatigu ;
Il. Strain life method involves analysis
~ of plastic deforM@g__aﬁsed
region..—

ll. Linear-elastic fracture mechanics
uses fracturetougnness of the
material. —

|V. Paris equation is usedto determine
the rate of crack growth.

Choose the bestoption from below :
(A) landllare correct but Iil and IV aré

incorrect
(B) Ilandlilare correct but | and IV are
incorrect ‘
) L1 and Ill are correct but IV IS
incorrect - .

c}m/ |, I, Il and 1V are correct

/

10"

1



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

-

g DY 2, g:ﬁ

if the value of theorelical stregs
; : 108. The equivalent length of a column as per
COFC:EF?;ELE-————::W 1.9 e 1N Euler'(; theory whgsa one end is fiX
yau ress concentrati e s
factor is equal to van \ and the other end is hinged is given by
(A) O v ;(/” \ (A) 21 s
v (B) !

(B)  (infinite) o\/

T Vors ww Y

(l i i = -
e Consdneasiog J it welded 109. The maximum shear stress theory states

joint between two plates of LS S ) :
thickness equal to 6 mm and samesl.ii?tﬁ that yielding o-f e rpater:{alb::f;:i
of 60 mm is subjected 1o a tensile force - | under the following relationship arid visld
of 35 KN, Assuming that the weld throat _maximum shear siress (Tmax) ¥
dimension is same as the thickness of stress (",]
the plate, then the average normal A) T =T
induced in the joint is equal to @ (A) Tmax =y _C “

— |7 (C) T =20 _[:
(C) 150 MPa 0 pax y
(D) 200 MPa - \9/1 @

max

106. Maximum shear stressina hollow s.haﬂ
subjected 10 W—Em is! 110, A thin seamless pipe of diameter 'd’ m

the ey A , is carrying fluid und_gff':LL_ms.Uﬁ—of P’
(A) Inner surface Offtthe . " kN/ecmZ. If the maximum stress is not
Outer M exceed's’ kN/cm?, the necessary thickness
(C) Middle of the thickness  of metal in cm will be given as
(D) None of the above _
107. A simply supported beﬂmﬂjy;; e y/ 12%(1cm &" y __é_
t load ‘W'_at mid span- s
C LY

carrying a poin

The deflmww%w _— )

is gug o 2 > | P

(A) WL?/48 EI /l/r)z,) RS : qj'g
\M— \WJ % _ C) ts< ::}q cm

( _

(C) 5WL/348 El _q"’ ) QL o

(D) WL*/348 El //&4%%’5/ (D) None of the above X IOO
3 & &

SEE/ME/2021-A [\ ﬂ' _b

A
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111.) For a cutting tool, the Taylor's equation

is given as VT = 300, whero V' Is
thegcutlmg speed in m/min and. tool life

T is in minutes. If the_culling. spead is
reduced by 50%, then the tool life will be g

enhanced by
300°% 'T' - e. 0 J)’ ’{k
(B) 200% \y L

(C) 100% .

(D) 400% \ EF

N
112, Thetypeof fitof anassemblyis designated

X\ as 50 H7s6. Using hole basis system, the
& type of fit is given by
(A) Clearance fit A (M A
(B) Transition fit {\ 2
(@) Interference fit -:(/ 2
D) Loose running fit G
.i - of the following statements are

: wlth
poc rsurtace f"n s

v‘—-r

el 'Fnchoﬁ'a?iﬂ'fvdé-ar increases. ‘t/’
5 ﬂl. Reduction ul_hghj_lng_na_pgcaty of

'~ joints.
*74

lfl Fatigue limit is reduced.

. ‘N‘W Improved corrosion res:stanca
UM | and Il are correct

\m (Land-H-are-correct

= (C) I, 11,1l and IV are correct

. (D) I, Iland IV are correct

In abrasive jet machining, if the mix|
ratio is constant, the MRR is ___nn

(A) Directly proportional to mass flow
rate of gas

(B) Indirectly proportional to mass of
abrasive
(C) Indirectly proportional to mass of gas

{ ‘/(Da' Directly proportional to mass flow
rate of abrasive C

1C

o

H

=

The angle between face of the lool and
a line arallel with the base of the lool,
moastrod In n por enalculmlnno
through thoe side cutiin 0is

(A) Sl relief angle

(B) Back rake angle

8 Sid 0 angqle

(D) End relief angle )

16.] Which of the following statement/

statements is/are correct ?

(A) PERT considers activity time as a
random variable

(B) CPM considers a single
deterministic time value for the

activities \_—

(C) CPM considers trade-off between
time and cost \—

All of the above

The “Information I@’S_I‘IES’IQD_MVICB
used for system of inventory and
production control is known as

(A) Poka-yoke

(B)  Benchmarking

Kanban
(D) Kanzan
Customers arrive at ona person barber

shop according to a Poisson process with
a mean inter-arrival time of

0 mindte
Customers spend on an average of of
15 _minutes in the barber's chair.

Determine how mych time can a
" customer expect to wait for his turn ?

(A) 30 minutes
(B) , 15 minutes

45 minutes
(D) 20 minutes

oy o

Ol

Lo

W
;‘/
p..
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petermine Initial basic feasible solution
using VOGEL's approximation method
1o minimize total transportation cost.

515 V.J

\O "
cﬂ(‘y“w

k.

the following-stat ment/statements
l?

hich €/aré correcl Sm—ﬂ@

i. The numbercharaclarises‘ :

the a%lual W&

22, |

Warehouse :
r . 7’2 Capactty i. The cetans number (CN) may be
Plant b q calculated by
N s 15_-25;— Exi67 5\.0 \é CN = % hexadecane +0.15-x -
B 6?:))1h 20 Eﬂ:l:—’ 5?5}— 0 0( % hE,'E_EH']ﬁB ane) O"\
Demand 5@} 350 | 450/ r f\g if. Diesel fuels are compared using
5’6 B an ignition delay metric. B
(A} Rs. 15,750 ?{ (A) ionly -{_\
E). \'3); (B) 4 and ii only
(C} Rs. 17 375 i and iii only r)[
' (D) i, ii and iii Pa

(D) Rs. 20,275

120. A company requires 16,000 units of raw
S ——rr

material costing Rs. 2 per unit. The cost

- of placing an order is Rs. 45 and the

carrying costs are 10% per ye r unit

of the ave raw Determine the
economic order quantity.

i U
(B) 2434 Units p ¢
(C) 2520 Units ’ 0y
(D) 2052 Units

121. The running cost.©f the Cl engine

e to the Sl en ine is
_._______.--'-'

.(\’
%

SEE}'MEI2021 -A

Y7\

@The solar radiation reaches on the Earth's
surface. It's maximum flux dansig is

(B) 0.5 KW/m®
(©
(D) 2.0 KW/m®

hich of the following statement/
statements is/are carrect ?

Gas turbines may be classified on the
basis of

i. Continuous combustion or
constant pressure type.

ii. On the basis of the action of
panding gasee.

iii. On the basis of direction of flow.
(A) i only

- (B) iandijonly

(C) iand iii only

}b | ~
'(cy Equal a
(D) None of the above } g}f\(u ) \ 1 and i
7 25
/

4-;<&w5

[P.T.O.
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125. In tho following which statements aro
correct in S| engino, luels to avold
detonation following are requir

i. High auto ignition temporaturo.
il. A long ignition lag. v
lii. Short ignition lag.
(A) iandiii
i and ii
(C) iiand iil
(D) i, iiand iil

126. Spinning body, which is free to move
in other directions under the aclion of
axternal forces, is called as

(A) Elliptical train
(B) Oscilloscope

__Qf Gyroscope

(D) Blower

127. In a slider crank mechanism, radius of
crank is 480 mm, it's angular velocity is

20 rad/s. Velocity of crank will be equal to
/{Z% m/s

(B) 11.34 m/s
(C) 12.24 m/s
(D) 17.58 m/s

128, In a simple band brake, tension on tight
side is _336 N; tension on slack side
is 125. B N; if radius us of brake drum is
100 mm; then braking torque value will be

(A) 33 N.m
(B) 27 N.m
(C) 35N.m @/ 6
.Eﬁ/; N.m \‘}"/
. e}
SEE/ME/2021-A X

67"
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129. A holt runs ovor a pulley. The nnf;lo of
lap In 1657, Il coelliciont of friction is 0.3,
thon ratio of tension (T /T ;) Is

(A) 10.14
/aa)/zl.a?

(C) 9.46
(D) 5.49

130. If a vibrating system consists of a mass
of 50 k ; a spring with sfiffness of
30 K then the value of critical
damplng coofficientwill be o
—_— 7"J

(A) 3295 N/m/s 30

(B) 2750 N/m/s 607['
4@4450 Nimis (" L

(D) 3735Nim/s Y

hich is not the characteristics of ideal
fluid 7

(mmpressible\/

(B) No surface tensi

(C) W@/
D) scid Vv

. . Which of the velocity fields will lead to

steady three_dimensional flow_ of an
incompressible fluid ?

(A) u=7+3x2y—4xy2;v=1+8yzz—4yzz:
W =6+ 7xz° - 5x%2

(/(B')/u=3—2yzz+4 ;v=2+61322—7>t22;
“"'=5‘3_§2J_3_+i’!¥

(C) u=4-5x2+7xyv= 5+6y°z~7yz";

W=2-3%z + 6x2°

(D) u=9+3ﬂr—5>3y3;v=10—4;y21+7y322.
W=7 + 5%°2° — 2x2°
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/

B Oscllatory ‘
- (C) Circular &
(D) Normal
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141. A stationary mass of gas is campressed
without friction from an initial state of
0.2 m® and 0.1 MPa to a final state of
-___—-—l-'—\
0.1 m? and 0.1 MPa, the pressure
remaining conslg_qu_urlng the process.
There is a transfer of 35 kJ of heat from
————

{he gas during the process. TﬂgmLamal property ? ———
energy of the gas change will be (A) Entropy
(B), Volume
(A) —15k _arw (Gf Pressure
(B) +15kJ a5 = DN \O ) Ailofthe above
\/}/ 25 X 7 B\} List — | specifies the type of ends of
(D) +25 kJ . Q\L, ¥ '- helical compression spring and List -l
_consists of the formulas for calculating

142. The state of thermodynamic_system

where the value of the g:oger_tz is same
at all the pomts is known as

Acyclic hea_t_.igi____rmoma_rgte_slgg_hueen a
source temperature of 500°C and a sink
temperature of 50°C. The least rate of

| engine will be
~ (A) 0.10KW
~(B) ok1 kw
 (C) 0.60kW
0.71kW

SEE/ME/2021-A

"heat rejection per kW net output of the
| )

144. Availability function for a closed systam is
\L/()a U+PV-TS ,

(B) U-PV +TS Q\\
(C) U+PV+TS
(D) U-PV-TS

QX

145. Which of the following is an intensive

the pitch of the spring.

Match List — I and List — Il and select the
correct answer using the codes given
below the lists.

List—1 List=1I
J. Plain end 1. (L, —2d)/Na
K. Plainand> )/Na
ground end _—
L. Squared ends b!(Na + 1)
M. Squ . (Ly— d)/Na
ground ends T p——

(Where, Na = Number of active coils,
L0 = free length of the spring and
d = diameter of spring wire)

Codes :
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;;-? eproofloadis delined as the maximum

| 7 \0ad thal a boll can with stand without

acquiring a permanent sel. Which of the
following strengths defines the proof

strength ?

Ay Fatigue strength of the bolt
(B) Shear strength of the bolt
(C) Tensile strength of the bolt
(D) All of the above

NAZ

Y

I 148. Which of the following statements are
correct in the case ol lorque transmission

through a c:gge_glm;h_? .
|. Torque capacity is directly proportional
to sin o, where « is half cone angle.

Il, If half cone angle () i5__':_9_§_§_!‘_13“
the angle Wclion, then
cone clutch has tendency to self
engage.

For e given dimensions, torque
capacity of cone cluteh is higher
than that of single plate clutch. :

Choose the best

answer from below :

(A) landllare correct butliland IV are
incorrect
) 1l and lll are correctbutland 1V are
incorrecl e
(c) LI and |l are correct but IV is
incorrect

(D) LW, Il and IV are correct

s

1!!}
»

149, A machino pomponent 1% ﬂ”?-'l”’f:‘“"d
to fluctunting alrost that vanes fiom
40 to 106 MPa. Il COIGOIGE G Bl
limit of tho component 1% 200 ME2 a:rd
ultimate tensila strength of the material
is 700 MPa, then the factor of safety of
the designed component according 10

Goodman equation is given by

> &) A 7
B) 2 e
(B)
() 4 W 1/

i 5
150. Based on the comparison of a hollow
shaft with a solid shaft for the same
weight, following statements are made
Nalural frequency of hollow shaft is
gher than that of the solid shaft.

. Stifiness of a hollow shaft is more
than that of a solid shaft.

pot

ll. The diameter of a hollow shaft is
greater than that of a solid shaft for
same torque transmission.

Hollow shaft is manufactured by
exirusion process.

V.

i::_:-ose the best statements from above
Ich signify the advantages of hollow

shait gver a i
solid sh
beloy - aft_and answer

( Statements | and Il only
(B) Statements || and lll only
(C) Statements Ill and IV only
(D) Statements | and v only

£

\O 309
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